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Intro (0:00)

Whiskey In The Jar

Thin Lizzy
Vagabonds Of The Western World

Words & Music by Traditional
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1st Verse (0:35)
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2nd Verse (1:36)
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2nd Chorus (2:05)
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gradual release
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3rd Chorus (3:54)

Chorus
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2nd Interlude (4:09)
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5th Chorus (4:54)
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Repeat and fade

—3— —3 —3— —3 —3 —3— —3—
175 : 1 : 1 1 1 :
I I I I I I I
) ) r . . ) .
- 2 2 o - .
—~ - , , - —~ —~ - —
3 L3
3 3 3
—3 3 3 3
0—2—0—2—4——0—2—0—2—4 0—2—4 0—2—4 0—2—0-2—4— 0—2—0—2—4———0—2—0—2—4— 0—2—0—2—4———0—2—0—2—4—
—3 —3
179 | 1

%

Page 8/8



